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begin this lesson, ask a pupil to come to the front of the class and put 2
ad rolls (using manipulatives) into baskets until they have no more bréad
s left. Ask pupils how many bread rolls they had to begin with and how
ny there are in each basket. How many baskets are there altogether? Tell
pils that we can write an explanation for what happens in this task by

ng the division sign. 8 (bread rolls) divided into baskets of 2 [bread rolls)
h means we have 4 (baskets). or8 - 2 = 4.

pils should also see that in order for them to find out how many bread rolls
v have in total. théy can multiply theé numbeér of baskeéts by how many

-ad rolls there are in each basket. Go through the fact that you can also
ide the B bréad rolls into 2 groups and the amount in the 2 groups gives

1 what 8 - 2 is equal to.

ring Guided Practice, pupils are differentiating between 2 groups and
wups of 2 and so on.

Resources for this lessons:

-coundtel
- TPARer

s (50 hetween two)
plates (10 hetween t
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16 -4
Half of 8

Which month comes after May?
January March June October
Tick the object below which has the same shapes as this: ‘

O A L Bs

How much money?

( )

Circle the 3rd number in the list below:
52 27 18 46 50 14 71

Bob is 3 years older than Sam. If Sam is 11 years old,
how old is Bob?

A pack of pencils has 4 pencils. -

| buy 3 packs. How many pencils? | a——

| 10) Write down the number one hundred and seventy eight. .

11)
12)

What is the next number: 2,4, 6, 8, 10,

Today is Friday. What will the day be in 2 days’ time?
Saturday Monday Thursday Sunday

Word of the day (x 5)

d

lviision



How would you

work this out?

' The numbers on this number line go up by the same amount
each time.

Write the missing numbers in the boxes.

Ben counts 38 red cars.
Sita counts 23 blue cars. i
20 40
| |

How many cars do they count altogether?

Cars




| car soo: . | have noticed. ..

* (1. How many objects dor we have? (total)
2 How many objects do- we need in
each tray? (put in to groups of)
QHawmcmy grmxpsd:d.wv.nmke?‘/

Ravi puts S cookies on each tray.
How many trays of cookies are there? -

What information do- we need in
order to- solve this problem?



LA e
How- many altogether? Y on b on v OB

How- many need to- go- in each basket? (each
groups has...)

What would owr number sentence be?

5 IWWS of 5 s

15+5=—1\
How- many tra.ys?.
15 +5=3



Let’s Learn

mlguketiuststiwsanwas Y
tlu’nking ahout howma.n,y fives there ﬂ
-

are in this number?
" -

What does she mean?




me,an,y cookies were there altoyaﬂw?

;fmmmmumm5msm. e

So | can count in 5s tar'IS(bamse.H'tathmy
total amount) A

L 2 3

5 10 15



7 | | 3
What /wfzpms if Ravi puts the

15 covkies egualty on 5 tm,ys?
- 4
Will the answer still be the same?

What would the number sentence be?




‘ Write the missing numbers.
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Put into groups of 5.
There are [l groups.

s

P el e e
P e e
Pl e i
P ol e
P ol el
P el e il

Put into 5 equal groups.
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Put into groups of 5.
There are [11] groups.
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Put into 5 equal groups.
Thereare [l & in each group.
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[ Dividing by 5 j




Remember to complete your tasks and Journal!



